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1 2 3 1 {10 1 2
3 21 -3 -8 6

= \oghnall 03D v pxideRoe) Gllac)! grelal) JF —ws- i (4

Calculate all possible sums of two of these matrices.

= \oghnall 03D v pyibgoe) Gllacd) el 1) IS s (B

Calculate all possible products of two of these matrices.

5B +4EAT g 3A 4+ 2E s (O
Calculate 3A + 2F and 5B + 4E AT .

bwg a2\ Gogoal) A — aF 2as a gl (D
Find oo where A — aF is the null matriz.

Exercise N°— 2 — gy id w2

16 YW g0 JF (B by 05k Losi® BA g AB olasd) —ws (1
Calculate the product AB and BA when is defined, in each of the following cases:

A:<1 0>’ B:<0 o>(a
2 0 0 3
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kC’alculate the transpose of the previous matrices. y

c Exercise N°— 3 — @d ‘,.1,.‘3\

L 60 %) Sbgianl) A, B € My(R) oIl
Let A, B € My(R) be the matriz defined by:

3 -1 0 1
AZ(—2()> ? B:<32>'
9 (A + B)? osoemaal) gn oo e A? + 2AB + B? 9 (A + B)? osoemaal) gn oo
A%*+ AB + BA+ B?

Compare the two matrices (A + B)? with A% +2AB + B2. Then compare the two matrices
(A+ B)? with A>+ AB + BA+ B~
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g Exercise N°— 4 — @d @.”3\
Let Iﬂ
A:<11>.
0 1
Find all matrices = \bga10,al) Js p_-g;\
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AB = BA 5% A go Js\ of BT )
which can be exchanged with A, i.e. AB = BA.

c Exercise N°— 5 — @d gg)-e:'\

Soem0ell g GwgiRe pS Gainds 31101 b g a L)
Let aandb be non-zero real numbers and the matriz

s a b
\ 0 a
AB = BA &V A 2o JsW of Wy N B € My(R) o logiaal) JS asq)

\Find all the matrices B € Ms(R) that can interchange with A, i.e. AB = BA.

J

2 Exercise N°— 6 — @d @.}03\

BA#09AB =0 2a> My(R) e B g A 13-}
Find A and B from My(R) where: AB =0 and BA # 0.
Let the matrix S0 g0l \;3:!
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Sogm0e)) ERu0 B (po N\ o o) SAB = I3 2as B € Mo3(R) boghone 165 JB (1
.B
Is there a matriz B € M, 3(R) where AB = I3? If yes, give the matriz formula of B.

6\99&)0»“ éSZ.pO -\ LY ..,—\95.:]\ Q\; 0! {CA=1, 208 C e M2,3(R) G0q000 A Jo (2
C
Is there a matriz C' € My 3(R) where CA = 1,7 If yes, give the matriz formula of C.
. J

Unwersity of Mohamed Kheidar, Biskra 3 Brahim Brahimi-Jihane Abdelli



2 Exercise N°— 7 — @d @.}03\

Let the following matrices as: D S e \oginal) JS:S

1 -1 11
-1 1 0 2
n>1 38 380 oo A" go i) 8 .47 A2 s (1
Calculate A%, A3. Then deduce from A™ for every n > 1.

B 6ogoad) 481 oo Jignd) wis Jo 1 (2
Answer the same question for the matriz B.
. J

i Exercise N°— 8 — @d gﬁ}ﬁ:’\

S0 qa0el) —glbe (&8 pal) Gog0a)) Gy D 5 WS Gy P JeRinh s

Calculate using the submerged method and then the conjugate matriz method, the inverse of

the
matric
11 2
A=11 2 1
2 11
\. J
i Exercise N°— 9 — @d gﬁy&:’\
Prove that o) _.of\
l1+a a a
D= b 1+4+b b =l+a+b+ec
c c 1l+c¢
\. J
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